Badgery Pairs
Here you will see that repeated addition is the same as
multiplication.

Two pairs of Three pairs of
badgers. coot.

How many coot?
How many
badgers
altogether?

& & ﬁ? & Five pairs of moles.

How many moles is that altogether?

Four pairs of polecats.

How many polecats is

. Six pairs of butterflies.

How many butterflies is that?

Eight pairs of kingfishers.
How many kingfishers is that?




Seven pairs of dolphins. = =
D
How many dolphins is that

altogether?
D D

{& , {&W {}’/w ,M J/W Ten pairs of wasps.
{?m gw ;&\w p&m p&/m How many wasps is that

e I altogether?

o ,,w Jw

So:

1x2-= 6x2-=
2x2-= 7x2-=
3x2-= 8x2-=
4 x 2 = 9x2-=
bx2-= 10x 2 =
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